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1 MAETERE. EHtEERUVBANEREATEEEDHD
OfeEHE Qi A DNFER R & QEMIL¥ESE
Fh) —— g —e—pm (B Fho) @BM) Fr) = @&FM
1,300 = 55,000 —t— YR —e—2iE AR E ¢ 28
500 11,000 700
1,250 50,000 480 10000 1,900
1,200 45,000 60 ' 600 Ao
1,150 40,000 440 9,000
500 1,500
1,100 35,000 420 8,000
400 1,300
1,050 30,000 7,000 400
380 1,100
1,000 25,000 360 6,000 300 *
950 20,000 340 000 900
900 15,000 320 ' 200 700
H26 27 28 29 30 R% 2 3 4 5 (Sy) 300 4,000
H26 27 28 20 30 Rt 2 3 4 5  (SY) 100 500
H26 27 28 29 30 R 2 8 4 5 (sy)
XSY(RHEEE) L. 10A~F9A, FTEERIIMARE (ZHA)N—XZ,
FRERDTTEREDHE AR ROFTERBEOHRE BN tEEFOTERBEDHR
(B Fhr.8HH) (B Fhr.B8FH) (BpL:Fho.BHFM)
sy H= 4. sy i 4] sy BE o]
H26 1,289 53,954 H26 - - H26 - -
27 1,216 51,699 27 - - 27 - -
28 1,240 48,198 28 - - 28 - -
29 1,168 50,532 29 - - 29 - -
30 1,190 47,955 30 348 4,408 30 - -
RIT 1,040 39,179 RJT 464 6,127 Ryt - -
2 1,064 37,880 2 427 6,669 2 - -
3 991 29,283 3 418 8,417 3 - -
4 1,098 21,972 4 360 9,526 4 - -
5 1,203 15,390 5 326 10,344 5 601 1,010
KE AR FOFEE L, FR30E12830B M5, 1 HEI ZEERCERERE,
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2 HREREY (SESEV)RMAFER[FTEBEDHR

(Fh2)
650

600

550

500

450

400

POERBE

H26 27 28 29 30 Ryt 2 3

HREREVRAEDORMTREDHE (BERER)

(BAM
11,000
10,500
10,000
9,500
9,000
8,500
8,000
7,500

7,000
4 5 (SY)

(BAL:Fho . BAM)

(F+2)

850

800

750

700

650

600

QiFHER

=

H26 27 28 29 30 Rz 2 3

(BEAMA)

15,000
14,500
14,000
13,500
13,000
12,500
12,000
11,500
11,000
10,500

10,000
4 5 (sY)

HREREWMRATEDRATREDHRE (HER)
(B Fhr . B5HM)

sy H= 4. sy H= &8

H26 465 7,277 H26 634 10,638
217 499 8,229 27 693 11,340
28 630 10,455 28 866 14,785
29 522 8,068 29 698 11,570
30 447 7,243 30 671 11,225

RIT 492 8,348 Rt 617 10,697
2 517 8,780 2 742 12,903
3 537 9,480 3 732 13,049
4 528 9,057 4 678 11,445
5 511 9,073 5 606 10,462
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3 ENERERMTERMEREDHER

(Fb2)

640

620

600

580

560

540

520

500

H26 27 28 29 30 Ryt 2

i

DTAERE

HE

TAERBORZTREDHETRE
(BAL:Fho . BAM)

3

Gy

16,000
15,000
14,000
13,000
12,000
11,000

10,000
(sY)

(Fh)

80

75

70

65

60

55

50

H26 27

QHLeHE(ER

A

28 29 30 Ry 2

HE

3

)

(BHMA)
4,600
4,400
4,200
4,000
3,800
3,600
3,400
3,200
3,000
2,800

4 5 (sY)

HLOBOXFREDOHS (ERER)
(B4 Fho . BAA)

(Fr2)

105

100

95

90

85

80

75

70

HL e DX HRE DR (hiER)

H26 27 28 29 30 Ry 2

QHLe#E (PiRR)

S HE

3

BAM

6,500
6,000
5,500
5,000
4,500
4,000

3,500

4 5 (sY)

(B4 Fho . BAM)

sy H= 4. sy i 4] sy o= =8
H26 579 12,277 H26 52 2,929 H26 76 4,762
27 633 13,437 27 60 3,413 27 75 4,846
28 544 11,250 28 77 4,509 28 104 6,796
29 614 10,950 29 56 3,067 29 78 4,711
30 601 14,132 30 51 3,148 30 75 5,175
RIT 584 14,958 Rt 60 3,704 RIT 73 5,172
2 622 15,703 2 62 3,835 2 86 5,962
3 642 14,135 3 65 3,841 3 87 5,690
4 625 14,763 4 62 3,252 4 76 4,585
5 512 10,378 5 63 2,851 5 71 3,762
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